
Hardware Included: 

QTY. HARDWARE APPLICATION 

10 M6 X 12 FLAT WASHER INTAKE MOUNTING 

10 M6 X 1.0 X 50MM HEX HEAD SCREW INTAKE MOUNTING 

4 5/16 SPLIT LOCK WASHER FUEL RAIL BRACKETS 

4 5/16-24 X 7/8" HEX HEAD SCREW FUEL RAIL BRACKETS 

4 5/16-18 X 1-3/8" HEX HEAD SCREW FUEL RAIL BRACKETS 

4 5/16-18 NYLON LOCKING NUT FUEL RAIL BRACKETS 

1 1/4-20 X 1.00" BUTTON HEAD SCREW MAP SENSOR SCREW 

Parts Included:

[1] 2-Piece Aluminum Intake Manifold
[2] Billet Aluminum Holley EFI Fuel Rails
[4] Short Fuel Rail Brackets
[4] Tall Fuel Rail Brackets




